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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2013 C L«X, 2014 
%UÔX›◊Tˆ ( Economics ) 

B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

%rÙ] Yy ( 8th Paper : Computer Applications in 
Economics & Research Methodology ) 

a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) [˝Tˆ¤]ÁX %UÔÍX◊TˆEı G„[˝bSÁÃ^ Eı◊+=ªRÙOÁÃ[˝ 

%ÓÁ◊Y¿„Eı`X-AÃ[˝ \…ˆ◊]EıÁ A[˝e a«◊[˝W˝Ám◊_ ◊[˝ÿôˆÁ◊Ã[˝Tˆ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 

  c˜OXY«ªRÙO A[˝e %Á=ªRÙOY«ªRÙO ^‹óˆÁe` [˝_„Tˆ ◊Eı Â[˝Á„MıX 

=VÁc˜Ã[˝Sac˜ %Á„_ÁªJÙXÁ EıÃ[˝”X* Âa≥ÆœÙÁ_ Y“„a◊ae 

c˜O=◊XªRÙO (CPU)-AÃ[˝ Y“„Ã^ÁLX›Ã^TˆÁ A[˝e [˝Ó[˝c˜Á◊Ã[˝Eı 

=Y„^Á◊GTˆÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 10 + 5 + 5  

 (F) Eı◊+=ªRÙOÁÃ[˝ ÊY“ÁG–Á◊]e [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? AEı◊ªRÙO 

◊ªJÙyac˜ ÊY“ÁG–Á] y‘]TˆÁ◊_EıÁÃ[˝ ◊[˝‰`¿bS EıÃ[˝”X A[˝e 

AÃ[˝ =Y„^Á◊GTˆÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* Â[˝◊aEı ÊY“ÁG–Á◊]e-

AÃ[˝ [˝Ó[˝c˜ÁÃ[˝ A[˝e mÃ[˝”±ºˆ AEı◊ªRÙO ]…_ ÊY“ÁG–Á] ◊_„F 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 5 + 5 + 10 

 (G) TˆUÓ\ˆÁâ¯ÁÃ[˝ [˝_„Tˆ ◊Eı Â[˝Á„MıX ? AÃ[˝ Y“W˝ÁX 

=YÁVÁXm◊_ A[˝e Y“„Ã^ÁLX›Ã^TˆÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

◊ªJÙyac˜ C y‘]TˆÁ◊_EıÁac˜ AEı◊ªRÙO %ÁV`Ô TˆUÓ\ˆÁâ¯Á„Ã[˝Ã[˝ 

◊[˝◊\ˆ~ ÿôˆÃ[˝m◊_ a+„EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X*  

   5 + 5 + 5 + 5 

 (H) MS-Excel-AÃ[˝ [˝Ó[˝c˜ÁÃ[˝ A[˝e =Y„^Á◊GTˆÁ a+„EÔı 

◊[˝ÿôˆÁ◊Ã[˝Tˆ %Á„_ÁªJÙXÁ EıÃ[˝”X* Excel-A a◊á˚Tˆ TˆUÓ 

◊Eı\ˆÁ„[˝ ÂÃ[˝FÁ◊ªJÙ‰y Y“EıÁ` EıÃ[˝Á ^ÁÃ^ TˆÁ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* ◊X∂oˆ◊_◊FTˆ TˆUÓm◊_ Excel-A [˝◊a„Ã^ 

LXaeFÓÁÃ[˝ GQÕˆ [˝ ◊à˘Ã[˝ G◊Tˆ %Á„_ÁªJÙXÁ EıÃ[˝”X : 

   10 + 10 

aÁ_ LXaeFÓÁ (ÂEıÁ◊ªRÙO„Tˆ) 
2004-05 79·90 
2005-06 80·70 
2006-07 81·30 
2007-08 82·10 
2008-09 85·20 
2009-10 88·10 
2010-11 92·04 
2011-12 110·05 
2012-13 120·70 
2013-14 130·10 
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2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) \ˆÁÃ[˝Tˆ[˝„bÔ ÂGÏS Y◊Ã[˝aeFÓÁX-AÃ[˝ Y“W˝ÁX =dam◊_ ◊Eı 

%Á„_ÁªJÙXÁ EıÃ[˝”X* ◊Eı\ˆÁ„[˝ ◊[˝◊\ˆ~ =da ÂU„Eı 

Y◊Ã[˝aeFÓÁX aeG–c˜ EıÃ[˝Á c˜Ã^ %Á„_ÁªJÙXÁ EıÃ[˝”X* 8 + 4 

(F) %YÁ„Ã[˝`X ◊Ã[˝aÁªJÙ¤ EıÁ„Eı [˝„_ ? AÃ[˝ Y“„Ã^ÁLX›Ã^TˆÁ C 

[˝Áÿôˆ[˝ Y“„Ã^ÁG a+„EÔı ◊[˝ÿôˆÁ◊Ã[˝Tˆ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

AEı◊ªRÙO ÈÃ[˝◊FEı ÊY“ÁG–Á◊]e ◊X]ÔÁ„SÃ[˝ W˝ÁYm◊_ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 6 + 6 

(G) Eı◊+=ªRÙOÁ„Ã[˝ %YÁ„Ã[˝◊ªRÙOe ◊a‰∫RÙO] [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? 

MS-DOS A[˝e WINDOWS-AÃ[˝ ]„W˝Ó YÁUÔEıÓ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 6 + 6 

(H) TˆUÓ\ˆÁâ¯Á„Ã[˝Ã[˝ ÿëˆ◊X\ˆ¤Ã[˝TˆÁ [˝_„Tˆ ◊Eı Â[˝Á„MıX ? ÿëˆ◊X\ˆ¤Ã[˝ 

TˆUÓ\ˆÁâ¯Á„Ã[˝Ã[˝ a«◊[˝W˝Ám◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 6 + 6 

(I¯) ÂEıÁXC ÂV„`Ã[˝ %UÔÍX◊TˆEı =~Ã^„XÃ[˝ c˜ÁÃ[˝ LÁXÁÃ[˝ LXÓ 

Eı„Ã^Eı◊ªRÙO ◊X„V¤`„EıÃ[˝ aÁc˜Á^Ó ÂXCÃ^Á c˜„Ã^ UÁ„Eı* %‹ôˆTˆ 

ªJÙÁÃ[˝◊ªRÙO ◊X„V¤`„EıÃ[˝ a+„EÔı ◊[˝ÿôˆÁ◊Ã[˝Tˆ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

  6 + 6 

(ªªJÙ˜) YÁUÔEıÓ %Á„_ÁªJÙXÁ EıÃ[˝”X : 

(i) Z¿ı◊Y ◊Qˆïı A[˝e c˜ÁQÔˆ ◊Qˆïı 

(ii) Tˆ„UÓÃ[˝ ÿëˆ◊X\ˆ¤Ã[˝TˆÁ A[˝e Tˆ„UÓÃ[˝ ◊XÃ[˝ÁYw¯Á* 

  6 + 6  

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) XT«ˆX QˆÁc˜O„Ã[˝kÙÃ[˝› GPˆX A[˝e QˆÁc˜O„Ã[˝kÙÃ[˝› Y◊Ã[˝[˝Tˆ¤X 

◊Eı\ˆÁ„[˝ EıÃ[˝Á c˜Ã̂  TˆÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(F) ÂEıÁX AEı◊ªRÙO ÊY“ÁG–Á◊]e \ˆÁbÁ Â_FÁÃ[˝ a]Ã^ ◊X∂oˆ◊_◊FTˆ 

◊[˝bÃ^m◊_Ã[˝ [˝Ó[˝c˜Á◊Ã[˝Eı Yà˘◊Tˆ %Á„_ÁªJÙXÁ EıÃ[˝”X : 

aeG–Ác˜Eı, _«Y, GSEı* 2 × 3  

(G) Eı◊+=ªRÙOÁ„Ã[˝ Eı]Áâ¯ EıÁ„Eı [˝„_ ? Eı◊+=ªRÙOÁ„Ã[˝ ◊[˝◊\ˆ~ 

Y“EıÁÃ[˝ Eı]Áâ¯ a+„EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X* 2 + 4 

(H) a+EÔı^«N˛ TˆUÓ\ˆÁâ¯Á„Ã[˝Ã[˝ aep˚Á ◊VX* [˝ß Y◊Ã[˝◊ªJÙTˆ 

V«◊ªRÙO a+EÔı^«N˛ TˆUÓ\ˆÁâ¯Á„Ã[˝Ã[˝ ◊[˝[˝Ã[˝S ◊VX* 3 + 3 

(I¯) Eı◊+=ªRÙOÁÃ[˝ c˜ÁQÔˆCÃ^ÓÁÃ[˝ A[˝e Eı◊+=ªRÙOÁÃ[˝ 

aZÀıªRÙOCÃ^ÓÁ„Ã[˝Ã[˝ ]„W˝Ó YÁUÔEıÓ ◊[˝‰`¿bS EıÃ[˝”X* 3 + 3 

(ªJÙ) ◊[˝◊\ˆ~ Y“EıÁ„Ã[˝Ã[˝ ◊XÃ[˝›l˘S Yà˘◊Tˆm◊_ ◊Eı ? A a+„EÔı 

ÂQˆ_◊Zı Yà˘◊Tˆ C Ây‘TˆÁ aÁl˘ÁdEıÁÃ[˝ Yà˘◊Tˆ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 3 + 3 

(ªK˜) AEı◊ªRÙO V›HÔ„]Ã^ÁV› ◊[˝◊X„Ã^Á„GÃ[˝ ◊aà˘Á„‹ôˆÃ[˝ Âl˘‰y X›ªRÀÙO 

[˝Tˆ¤]ÁX Y“E ıTˆ ]…_Ó (NPV) A[˝e =Y„^ÁG [˝ÓÃ^ 

%X«YÁTˆ (BCR)-AÃ[˝ mÃ[˝”±ºˆ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(L) ◊Y“≥RÙOÁ„Ã[˝Ã[˝ [˝Ó[˝c˜Á◊Ã[˝Eı =Y„^Á◊GTˆÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

RAM C ROM-AÃ[˝ ]„W˝Ó YÁUÔEıÓ %Á„_ÁªJÙXÁ EıÃ[˝”X*  

  3 + 3 
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1. Answer any two questions : 20 × 2 = 40 
(a) Discuss the role and advantages of 

Computer Application in economic research 

and methodology in detail. 

 Discuss with examples what you 
understand by input and output devices. 

Explain the utility and requirement of 

Central Processing Unit. 10 + 5 + 5  

(b) What do you mean by Programming ? 

Explain program flow chart with the help of 

flow chart and its requirement. With the 

help of a main program discuss the 

importance and usage of basic program. 

  5 + 5 + 10 

(c) What do you mean by Database ? Describe 
the significant elements and utility of a 

database. What are the different steps of a 

database ? With the help of a diagram and 

flow-chart discuss the process of 

conducting a database (DBMS).  

  5 + 5 + 5 + 5   

(d) Discuss the application and utility of      

MS-Excel. How could the data maintained 

in Excel be displayed in a graph ? 

 From the following details, determine the 
average rate of growth in population in a 
country after plotting the data in Excel.  

  10 + 10 
Year Population  

(in crores)
2004-05 79·90 
2005-06 80·70 
2006-07 81·30 
2007-08 82·10 
2008-09 85·20 
2009-10 88·10 
2010-11 92·04 
2011-12 110·05 
2012-13 120·70 
2013-14 130·10 

2. Answer any three questions  : 12 × 3 = 36 
(a) Discuss the main sources of statistical data 

in India. How are such statistical data 
collected ? 8 + 4  

(b) What do you mean by Operation     
Research ? What are its utility and practical 
applications ? Discuss the steps involved in 
preparing a linear program. 6 + 6   

(c) What do you mean by computer operating 
system ? Distinguish between MS-DOS and 
WINDOWS. 6 + 6 

(d) What do you understand by Independence 
of Database ? Explain the advantages of 
Independent Database. 6 + 6   

(e) The rate of growth of economy is reflected 
through a few indicators. Explain any four 
such indicators in detail. 6 + 6 
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(f) Distinguish between the following : 
(i) Floppy disc & Hard disc 
(ii) Data independence & Data security.  
  6 + 6   

3. Answer any four questions  : 6 × 4 = 24 
(a) Explain how a new directory is made and 

how to change a directory.  
(b) In writing any programming language 

discuss the applicability of the following : 
 Accumulator, Loop, Counter. 2 × 3 
(c) What is command in computer ? Discuss 

the various types of commands used in 
computer. 2 + 4  

(d) Define Relational Database. State any two 
most common RDBMS. 3 + 3 

(e) Distinguish between Computer hardware 
and Computer software. 3 + 3 

(f) What are the various survey methods ? In 
this connection discuss Delphi method and 
Consumer's Interview method. 3 + 3  

(g) Discuss the importance of Net Present 
Value and Benefit Cost Ratio (BCR) in 
deciding long term investment decision. 

(h) Discuss the practical utility of a printer. 
Distinguish between RAM and ROM. 3 + 3 

    


